

Menu's

Thursday evening 9/25 6:00 to 8:00 p.m.

<u>Hot Hors D'oeuvres</u>	
Buffalo Wings	13 doz.
Mozzarella Cheese Sticks	13 doz.
Egg Rolls	13 doz.
Mini Burritos	13 doz.
Rumaki	13 doz.
Taquitos	13 doz.
Jalapeno Poppers	<u>6 doz.</u>
	84 doz. X 18.00 = \$1512.00
	<u>X1.2575</u>
84 x 12 = 1008/150=6.72 pieces each.	\$1901.34
1901.34/150=\$12.68 each.	
Recommend pricing @ \$13.50 x 150=\$2025.00 or a	
Difference of \$123.6	

Friday evening, 9/26 7:00 to 9:00 p.m.

The Sandwich Board

Soup Du Jour, Potato Salad & Cold slaw
Assorted Sliced Deli Meats to include
Sliced Roast Beef, Turkey Breast, Ham, Cheddar & Swiss Cheeses
Freshly Baked Cookies and Brownies
Coffee, Decaffeinated Coffee, Tea, Assorted Soft Drinks
Cost is \$15.95 + 18%+7.75% or \$20.05 ea.
150 x \$20.05 = \$3007.50
Recommend pricing @ \$20.50 x 150.00 = \$3075.00
a difference of \$68.50

Saturday morning, 9/27 7:00 to 9:00 a.m.

The All American Breakfast

Freshly Squeezed Orange Juice
Fluffy Scrambled Eggs
Crisp Bacon or Grilled Sausage
Breakfast Potatoes
Assorted Breakfast Pastries, Muffins, and Breads
Coffee. Tea and Decaffeinated Coffee
Cost is \$9.95 per person \$9.95
plus 18% gratuity & 7.75% tax=x <u>1.2575</u>
\$12.51
150 x \$12.51 = \$1876.50
Recommended price \$13.00 x 150 = \$1950.00
a difference of \$73.50

Saturday evening, 7:00 to 9:00 p.m.

Dinner Entrees

All Dinner Entrees are accompanied by Garden Fresh Salad
Chef's Choice of fresh Vegetable and Starch
Warm Rolls and Butter, Coffee, Tea and Decaffeinated Coffee
and the Chef's Desert Selection

Entree Choices are:

LONDON BROIL

Sliced Sirloin of Beef with a Sherry Mushroom Sauce
Cost is \$21.00 + 18% gratuity + 7.75% tax =
\$26.41 per plate or \$3961.50
recommended price \$27.00 x 150 = \$4050.00
a difference of \$88.50

FRESH HALIBUT

Sauteed and Served with a Compote of Cucumber and Roasted Garlic
Cost is \$20.95 + 18% gratuity + 7.75% tax =
\$26.34 x 150 or \$3951.00
Recommended price \$26.75 x 150 = \$4012.50
a difference of \$61.50

STUFFED CORNISH GAME HEN

Baked in Natural Juices and Stuffed with Wild Rice
Cost is \$19.95 + 18% gratuity + 7.75% tax =
\$25.09 x 150 or \$3763.50
Recommended price \$25.50 x 150 = \$3825.00
a difference of \$61.50

Sunday morning, 9/28 8:00 to 10:00 a.m.

The All American Breakfast

Freshly Squeezed Orange Juice
Fluffy Scrambled Eggs
Crisp Bacon or Grilled Sausage
Breakfast Potatoes

Assorted Breakfast Pastries, Muffins, and Breads
Coffee, Tea and Decaffeinated Coffee
Cost is \$9.95 per person \$9.95
plus 18% gratuity & 7.75% tax = \$12.51
\$12.51

150 x \$12.51 = \$1876.50

Recommended price \$13.00 x 150 = \$1950.00
a difference of \$73.50

REUNION REGISTRATION FORM

Members Name _____

Accompanied by (Name) _____

St. Address: _____

City/State: _____

Phone: (_____) _____

Arrival date in San Diego _____

Tour Options are:

Tour Pkg #1 Sea World depart hotel Friday 9:00 a.m. return at 4-5:00 p.m. Cost is \$40.00 ea

Tour Pkg #2 San Diego Zoo depart hotel Sat at 10:00 a.m. return at 4-5 p.m. Cost is \$30.00 ea.
\$28 for Seniors (age 60).

Tour Pkg #3 City Tour & Sea World depart hotel Friday at 9:00 a.m. return 4-5 p.m. Cost is \$58.00 ea.

Tour Pkg #4 City Tour & Zoo depart hotel Sat at 10:00 a.m. return at 4-5 p.m. Cost is \$49.00 ea.

These are good tour prices. For example, you can go the Sea World on you own and pay \$32.95 to get in and taxi transportation of \$15.00 each way. Your cost \$62.95. Compare with our package price of \$40.00

Save mailing costs this year. No need to send me your registration and J.C. your dues. Mail both to me and I will get you on J.C.'s mailing list for the reunion magazine to confirm your payment.

Please note: We ask that if you are not paying for the meals please come to the meeting room after the staff starts cleaning up the tables. Attending during the meal times when you don't pay for the meals makes it difficult to keep track of who has paid and who hasn't. We have a responsibility to the hotel to pay for a meal for every seat taken up during the meal. Please join us as soon as the meal is over. The hours for the room are unlimited, you can stay as late as you like.

Registration Selections and Costs

Thursday Evening 6:00 to 8:00 p.m.

Hot Hors D' oeuvres \$13.50 x Number attending = \$ _____

Friday Evening 7:00 to 9:00 p.m.

Sandwich Board \$20.50 x Number attending = \$ _____

Saturday Morning 7:00 to 9:00 a.m.

All American Breakfast \$13.00 x Number attending = \$ _____

Saturday Evening 7:00 to 9:00 p.m.

London Broil \$27.00 x Number this entree = \$ _____

Fresh Halibut \$26.75 x Number this entree = \$ _____

Game Hen \$25.50 x Number this entree = \$ _____

Sunday Morning 8:00 to 10:00 p.m.

All American Breakfast \$13.00 x Number attending = \$ _____

Please Add Tour Package # Cost \$ X No going on tour = \$
1997 Dues \$20.00 = \$ \$20.00

Total Enclosed \$ _____

ASSUMPTIONS FOR ASSOC' SURCHARGE
..... TO PAY ADDITIONAL COSTS THAT WILL BE INCURRED

Thursday evening --assume 60 people attending

34 dz Hot Hors D'oeuvres = \$22.64 per doz (6.7 pieces each) =	\$769.76
60 members pay \$13.50 each =	\$810.00

Difference	\$40.24
------------	---------

Friday evening --assume 100 people attending

Sandwich boards for 100 x \$20.05	= \$2005.00
100 members pay \$20.50 each=	\$2050.00

Difference	\$45.00
------------	---------

Saturday morning --assume 90 attending

All American Breakfast for 90 = \$12.51 ea	= \$1125.90
90 members pay \$13.00 each =	\$1170.00

Difference	\$44.10
------------	---------

Saturday evening -- assume 50 having London Broil at \$26.41 each

50 members pay \$27.00 each =	= \$1320.50
	\$1350.00

Difference	\$29.50
------------	---------

-- assume 50 having Halibut at \$26.34 each

50 members pay \$26.75 each =	= \$1317.00
	\$1337.50

Difference	\$20.50
------------	---------

-- assume 50 having Game Hen at \$25.09

50 members pay \$25.50 each =	= \$1254.00
	\$1275.00

Difference	\$20.50
------------	---------

Sunday morning -- assume 110 attending

All American Breakfast for 110 = \$12.51 ea	= \$1376.10
110 members pay \$13.00 each =	\$1430.00

Difference	<u>\$53.90</u>
	\$274.24

The surcharge put on by the association will make \$274.24 at the assumed attendance or up to \$409.60 if a maximum attendance of 150 is met. These surcharges are used to off-set costs such as printing, name tags, VCR, microphone, etc. There is no association surcharge added to cost of tours and we negotiated price of tours to include all tax.

You can show your appreciation for the tour if you feel it is appropriate by tipping the Bellmen when you return from the tour, they are the ones who are doing most of the arrangements for you.

SAN DIEGO MARRIOTT SUITES FACT SHEET

ADDRESS/TELECOMMUNICATION

**701 A STREET
SAN DIEGO, CALIFORNIA 92101
PHONE: 619/696-9800
TOLL FREE RESERVATIONS: 800/962-1367
FAX: 619/696-1555**

LOCATION

Conveniently located atop the historic Copley Symphony Hall in the heart of downtown San Diego's financial district, minutes from the San Diego Convention Center and Lindbergh Field, San Diego's international airport.

ACCOMMODATIONS

The 27-story hotel encompasses 264 suites to include:

- 208 King Suites
- 56 Double Double Suites
- 153 Non-Smoking Suites
- 9 Accessible Suites
- 8 Conference King Suites

IN-ROOM FEATURES

All 264 suites are accented with the following amenities:

- Large, well-lit work desk
- Iron and ironing board
- Two telephones with voice mail
- Wet bar with coffee maker
- Hairdryer
- Fully-stocked honor bar
- Computer modem hook-up
- Two remote control televisions
- In-room cable and pay movie channels
- Full-size sofa beds

PARKING

\$10 per day self parking. \$15 per day valet parking. Hourly rates are also available. All parking is secured in a covered multi-level parking structure.

MEETING AND FUNCTION SPACE

5,140 square feet of flexible meeting space all conveniently located on the lobby level.

- 1,809 Square foot Ballroom
- Luxurious Boardroom for twelve
- 5 Additional breakout rooms, all with natural lighting
- 8 Suites with conference table for six

SAN DIEGO COUNTY BAR ASSOCIATION

Located adjacent to the hotel, this facility offers 6,114 additional square feet of versatile meeting space. All food preparation and service are provided by the Marriott staff ensuring the highest level of quality and presentation. Meeting space includes:

- 3,200 Square foot Ballroom
- 1,596 Square foot Junior Ballroom
- Two additional breakout rooms

HONORED GUEST AWARD POINTS

Honored Guest Award participants can earn additional points for group events and catering functions. The points earning structure for meetings when a group occupies ten or more suites per night is as follows:

<u>Night of Stay</u>	<u>Points Earned</u>
Friday - Monday	10,000 Points Per Night
Tuesday - Thursday	2,000 Points Per Night

In addition, three points will be awarded for every catering dollar spent on meetings held Monday-Friday beginning at 5:00pm or later or anytime Saturday or Sunday. Room nights are not required. Redeem points earned at any Marriott for vacations or family getaways.

MEETING MILES '95

Earn 5,000 Frequent Flyer Miles for each and every meeting held at The San Diego Marriott Suites in 1995. Earn an additional 5,000 miles for a total of 10,000 miles when hosting an event on Sunday night. Groups must occupy ten or more guest rooms on any given night during the meeting to be eligible. Participating airlines are:

- Delta
- USAir
- American Airlines
- British Airways (US Only)
- Continental Airlines
- Air Canada
- Northwest
- TWA
- United Airlines

ATTRACTI0NS WITHIN WALKING DISTANCE

- Gaslamp District (Dining/Entertainment)
- Balboa Park (Recreation, Museums)
- Seaport Village (Dining, Shopping)
- Horton Plaza (Dining, Shopping)
- Performing Arts Center
- Spreckles Theater
- Lyceum Theater
- Copley Hall (Symphony)

ATTRACTI0NS A SHORT DRIVE AWAY

- San Diego Zoo
- Seaworld
- Wild Animal Park
- Scripps Aquarium
- Coronado Island
- Tijuana, Mexico
- Old Town
- Jack Murphy Stadium
- Del Mar Racetrack
- Presidio Park
- La Jolla Tidal Pools
- Old Ferry Landing

CLIMATE

San Diego is always in season. The following temperatures represent average monthly highs and lows in fahrenheit degrees.

	<u>High</u>	<u>Low</u>		<u>High</u>	<u>Low</u>
January	64.6	45.8	July	75.3	63.9
February	65.6	47.8	August	77.3	65.4
March	66.0	50.1	September	76.5	63.2
April	67.6	53.8	October	73.8	58.4
May	69.4	57.2	November	70.1	51.5
June	71.1	59.9	December	66.1	47.2

GUEST SERVICES

- Drycleaning/Laundry
- Soda, Ice and Vending Machines
- Gift Shop
- Safe-Deposit Boxes
- Audio Visual Equipment and Service

GENERAL INFORMATION

- Check-In 4pm
- Check-Out 12 Noon
- Hotel Tax 10.5 Percent
- Credit Cards Accepted: American Express, Visa, Mastercard, Diners Club, Discover
- Direct Billing for group events is available pending approved credit application

DINING AND ENTERTAINMENT

Renditions Restaurant, capacity 130 people, offers a variety of American alternatives for breakfast, lunch and dinner. Buffets are available during the week for breakfast and lunch, or order from the menu highlighted with pasta, salads and seafood entrees. We also serve Pizza Hut Pizza.

Sky Lobby Lounge provides the perfect atmosphere to unwind after a long day of work or sightseeing. Enjoy an appetizer complimented with a variety of specialty drinks and microbrewery beers.

Relax in the privacy of your room with in-suite dining. A wide variety of entrees for breakfast, lunch or dinner will be promptly delivered to your room. Early meeting tomorrow? Breakfast pre-orders are graciously accepted.

Catering Services are also available. Themed events and unique menus can be specifically designed for your group needs.

RECREATION ON PROPERTY

Visit our indoor pool, jacuzzi, sauna and exercise facility featuring Life Cycle, Universal machine and Stairclimber. Separate locker rooms for men and women are also available. Facilities are complimentary for hotel guests.

SAN DIEGO ATHLETIC CLUB

In addition to our health facility, we have arranged an opportunity for our guest to use the San Diego Athletic Club for a discounted fee of \$5.00 per visit. This state of the art club is located directly across the street in the Imperial Bank Tower.

Services Include:

- Sauna
- Steam Room
- Whirlpool
- Free Weights
- 8 Life Cycles
- 8 Stair Masters
- 1 Treadmill
- Racquetball
- Half Court Basketball
- Squash
- Nautilus Weight Machines & Free Weights
- High-Energy Noon & Evening Aerobic Classes
- Shower and Dressing Facilities
- Therapeutic Massage (\$30 1/2 hour, \$45 hour)

RECREATION NEARBY

- Golf
- Tennis
- Deep Sea Fishing
- Sailing
- Shopping
- Racquetball
- Dinner & Whale Watching Cruises